Factor Polynomials Completely

Goal  Factor pelynomials completely

Try to group terms and loak for common factors,

Example 1  Factor out common binomial

a. Factor the expression  5x*(x-3)-4{x-3)
Solution Sx*{x-3)-4(x-3} = (Sx3-4)(x-3)

b. Factor the expression 3x*(x-3}+24(3-x)
Solution 3x¥{x-3) + 24{3-x) = 3x3(x-3} - 24(x-3) = (3x2-24){x-3)
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Exampie 2 Factor by grouping
3. Factor the expression X470 =2x-14
Solution 475t~ 2e-14= (¢ + 7% ) +{=2x—4)
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b. Factor the expression 48x' —3x°

kxample 3 Factar the polynomial completely
a. Factor the expression 5x' -55x7 +90x

Solution 52 - 55x" +90x = 5x(x* —| Lx+18)
=Sx{x=2)x~9)
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Exampie 4 Solve a polynomial equation
Solve the equation 4x* +4x° =24x =0
' +ar-24r=0
Solution  yi(r'yrog) =0
Ax(x+3)x=-2)=0
x= x=-3 x=2
The solutians of tha equation are 0, -3, and 2.
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